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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

73.  Dominic prefers to work with decimals instead of fractions. For one homework problem

involving % and % he decides to turn both fractions into decimals before continuing.

He discovers that % = 0.125.

A. What is the decimal representation for %’? Show or explain how you could
determine that it repeats when doing long division without the aid of a

calculator,
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

73. Continued. Please refer to the previous page for task explanation.

Dominic incorrectly decides that the sum of % and % is 12—4

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

C. What is the sum of % and ;— ? Give your answer in the form of a fraction in

lowest terms.
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

Grade 7 Math

Dominic Does Homework

Assessment Anchor this item will be reported under:
M07.A-N.1 Apply and extend previous understandings of operations to add, subtract,
multiply, and divide rational numbers.

Specific Anchor Descriptor addressed by this item:
M07.A-N.1.1 Solve real-world and mathematical problems involving the four operations
with rational numbers.

Scoring Guide:

Score

In this item, the student -

4

Demonstrates a thorough understanding of performing the four operations with
rational numbers by correctly solving problems and clearly explaining procedures.

Demonstrates a general understanding of performing the four operations with
rational numbers by correctly solving problems and clearly explaining procedures
with only minor errors or omissions.

Demonstrates a partial understanding of performing the four operations with
rational numbers by correctly performing a significant portion of the required task.

Demonstrates minimal understanding of performing the four operations with
rational numbers.

The response has no correct answer and insufficient evidence to demonstrate any
understanding of the mathematical concepts and procedures as required by the
task. Response may show only information copied from the question.

Non-
scorables

B - Blank, entirely erased or written refusal to respond
F —Foreign Language

K - Off-task

U —Unreadable

Top Scoring Student Response And Training Notes:

Score

Description

4

Student earns 4 points.

Student earns 3.0 - 3.5 points.

Student earns 2.0 — 2.5 points.

3
2
1

Student earns 0.5 - 1.5 points.

OR
Student demonstrates minimal understanding of performing the four
operations with rational numbers.

Response is incorrect or contains some correct work that is irrelevant to the
skill or concept being measured.
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

A
What? Why?
0.16 Sample Work:
OR 0.1666
0.166... 65 1.0000
64
OR 40
EQUIVALENT 364
40
364
40
—36
4
OR
Sample Explanation:

When dividing 1 by 6, [ have to keep dividing 40 by 6, which leaves a
remainder of 4. Then, when I bring down the next 0, I have to divide 40

by 6 again. [ can see that I would have to keep dividing 40 by 6 forever.

OR EQUIVALENT

(2 score points)

1 point for correct answer
1 point for complete support
OR %2 point for correct but incomplete support

What?

Why?

Sample Explanations:
The answer must have a denominator that is a multiple of 6 and 8.
OR ‘

2 1 1 .1 1. .

— < — and — + — > — since — is a positive number.
14 6 6 8 6 8

However, -1-2; cannot be both less than and greater than L , S0 it cannot

be the correct answer. OR EQUIVALENT

(1 score point)

1 point for complete explanation
OR Y2 point for correct but incomplete explanation

What?

Why?

7
24

(1 score point)

1 point for correct answer
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

A-1

73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving ?13- and %. he decides to turn both fractions into decimals before continuihg.

He discovers that %‘ = 0.125.

A. Whatis the decimal representation for -2-3-? Show or explain how you could

determine that it repeats when doing long division without the aid of a

calculator.
The deetrea Cegs Ccsen'*ccc+§<>r§ fs Q&-e'éff'
le Scﬁr A decimed (*c:e?csef\*m*‘\"am g
dwided AW Numeratsc hy He denp menectst

4 A. 2 points — correct answer and complete support (shows long division).

B. 1 point — complete explanation.
C. 1 point — correct answer.

Page 3-6


jkobe
Text Box
PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

jkobe
Text Box
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73.. Continued. Please refer fo {he previous page for task explanalion.

A-1

Dominic incorrectly decides that the sum of é— and %— is %

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

N

L o el Dom‘gv\!\.c/ is 1ncarrect

laec:au‘usa V9 {a wot a commen
Mulhple of G wnd &

C. Whatis the sum of %— and -33-? Give your answer in the form of a fraction in
lowest terms.

_”,7

e

24
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

73.

Dominic prefers to work with decimals instead of fractions. For one homework problem

involving % and % he decides to turn both fractions into decimals before continuing.

He discovers that % = 0,125,

A. What is the decimal representation for %—2 Show or explain how you could

determine that it repeats when doing long division without the aid of a

calculator.

4 A. 2 points — correct answer and complete support.

B. 1 point — complete explanation.
C. 1 point — correct answer.
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

73. Continued. Please refer.to the previous page for task explanation.

| Dominic tncorrectly decndes that the sum of ; and %

B. Explain how you could determine that Dominic is incorrect without a Etually

computing the sum, om M Mmﬁ
@, d"i’ LD e

C. Whatis the sum of 5 and ? vae your answer in the form of a fractxon in

 lowest terms. oﬂ C @

Gl l%@ & -

. %l(" @ ﬁ s I 8x3=20
. X 4=

24 ixS =3
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set A-3

73. Dominic prefers to work with decimals instead of fractions. For one homework problem
involving -(1;- and %—, he decides to turn both fractions into decimals before continuing.
He discovers that Jé- = (0.125.

A. What is the decimal representation for %? Show or explain how you could

calculator, 1 7

the. 5:6;61% wll#ﬁz@ié —
‘éﬁéau&(’/ a?‘(e/—f 4{2‘? Z&/ é J_g/

‘ 1% &

’59 chl@,%b@ 6 o Chosexd u “‘ii—g@
o come To WO, e resubt o 0-6, s
3@“—%@/]&%;3 N‘/Jug} coq%mmu s
ot

3 A. 2 points — correct answer and complete support.

B. 0.5 point — correct but incomplete explanation (24 is not the greatest common
denominator, but the concept is correct).
C. 1 point — correct answer.
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

73. Continued. Please refer to the previous page for task explanation.

Dominic incorrectly decides that the sum of % and %- is -1%.,

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

ob ¥ ord b < Z“f‘,mf 14
hs ch/lomha?llor\ s his ?Frac’}"{m

ﬂCOf/bC/‘(‘ ¢

Th, rgojlﬁgl conmivn Qbﬂcm/lﬂj(ol’”

Y
4

C. Whatis the sum of %—r and % ? Give your answer in the form of a fraction in

lowest terms. [ + [ ,_é'“ ?’L 2 —2—‘?‘
- 1T ' : JQ) xs ({
e &

'\
u o [-L
T2y /S
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

A-4

73.  Dominic prefers to work with decimals instead of fractions. For one homework problem

involving % and %' he decides to turn both fractions into decimals before continuing.

He discovers that -;— = 0.125,

2 Show or explain how you could

A , dec 1

A. What is the decimal representation for 5
determine that it repeats when doing long division without the-aid"of a

O\ 6 Q&
T =4 ‘

@ T The \eftover
Vi vaken:
'S alvayr
me‘l‘wf\‘{’L?
r“‘(’e“'}".‘/“?/
@ Hoer 16 (¢
C—‘{eO’A-s‘vea_‘ .
Condimitaus
fe 1}9.&-‘»:‘91%
6? AL
%“L\Q. avsigef,

calculator.

3 A. 1 point — no credit for answer (missing notation for repeating decimal); complete

support.
B. 1 point — complete explanation.

C. 1 point — correct answetr.
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set
A-4

73. Continued. Please refer to the previous page for fask explanation.

e L — e R

| Dominic incorrectly decides that the sum of %— and 313- is '{23:

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum,,

He ol cp\c\"weA the 5tep
o wV\VW\—\‘Vé’ \ocs\‘\aL ‘QFOL(}N‘QM}"
éf’/\/tOWL\‘VW» 49( s tte powmmo
devont tvio X6 S {awo\ \Wack J‘%S,\*
m&e& X055 the Wamierm Nar |
o deveniia e Y,

C. Whatis the sum of% and g—? Giva your @nswer in the form of a fraction in

lowest terms.,
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving% and 313" he decides to turn both fractions info decimals before continuing,

He discovers that -;- = 0.125.

ot

A. What is the decimal representation for %? Show or explain how you could

determine that it repeats when doing long division without the aid of a

calculator.

lov dide 1 by

0 089( O dReimod
osuee o 067

A-5

2 A. 1 point — no credit for answer (0.167); complete support.

B. 0.5 point — correct but incomplete explanation (LCM is not 48).
C. 1 point — correct answer.
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

A-5

73. Continued. Please refer to the previous page for fask explanation;

Dominic incorrectly decides that the sum of %— and -18~ is -1%-

B. Explain how you,could determine that Dominic is incorrect without actually
computing the sum.

Vowaic woud st e to

ﬁnd i |.CM Ld\md/\ T looest
Cbmmgr\ &QY\O{Y\MMW: &H/\em“se J

Jour onswer | 15 Wrond becavse “/00

C. Whatis the sum of 1 and %—? Give your answer in the form of g fraction in

6
lowest terms.
LOM- 18
% x¥

1500
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set A-6

73. Dominic prefers to work with decimals instead of fractions. For one homework problem
involving % and -1-, he decides to turn both fractions inte decimals before continuing.

He discovers that-;- = 0.125,

- et et At

| A. What is the decimal representation for -16-’? Show or explain how you couid
determine,that it repeats when doing long division without the aid of a*

calculator.

2 A. 1 point — no credit for answer (notation for repeating decimal is incorrect);

complete support.
B. 0 points — incorrect explanation.

C. 1 point — correct answer.
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

73. Contim_led. Please refer to the prgvious page for task explanation.
L o 1 1. 2 -
Dominic mcorrectiy decides that the sum of = 5@ and Y is 14"

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

Pecquse, L4 o not Fevisible
by 7

7

-
v

A
. "

¥ —

14

6

C. Whatis the sum of l and 1’?

8"

lee your answer in the form of a fractionin

lowest terms.,
| I 7
p— ‘}' T ™ o
L 6 -4
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

73. Dominic prefers to work with decimals instead of fractions. For one homework problem
involvin 1 and 1
in 95 5

he decides to turn both fractions info decimals before continuing.
He discovers that % = 0,128. |

A. Whatis the decimal representation for % ? Show or explain how you could
determine that it repeats when doing long division without the aid of a

calculator.

Waher o dwmce 6 g g

&ewz\ Yoo a5 egunmless
Yo % Yoo Suold Gel Belew),

v

1 A. 0 points — incorrect answer and incorrect support.

B. 0.5 point — correct but incomplete explanation ( “denominators that are the same”
is correct, but if “numerators” are also explained, it must be clear that this does not mean
661 + 133)-

C. 1 point — correct answer.
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

A-7

73. Continued. Please refer to the previous page for task explanation.

Dominic incorrecily decides that the sum of % and %— is -1—22

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

Dot

relesX
W6 N sy WO o«

60 R
g,;c@' 9 X0 keo G Mc\é

C. Whatis the sum of % and -;— ? Give your answer in the form of a fraction in

lowest terms. ~1

———— T T o

{

1 /.
/ D .1 W, 7
L - 7 X0
}.,L‘.\J,-w 1N
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

A-8

73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving % and %, he decides fo turn both fractions into decimals before continuing.

He discovers that %- = 0.125.

A. What is the decimal representation for %? Show or explain how you could
determine that'it repeats when doing fong division without the aid of a

calculator.

A & é\i\)‘\d\e
©

* V= :@/\g

1 A. 0.5 point — incorrect answer; correct but incomplete support (1 + 6).

B. 0 points — incorrect explanation.
C. 0 points — incorrect answer.
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

73. Continued. Please refer to the previous page for task explanation.

Dominic incorrectly decides that the sum of % and -2-3- is -1%

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

Vel cov\d oo \)&)mcg
\@emw\%c Mayhe Ve aced

o DuMpe wcoW@ © Q@
e Deumal 0L W
X

6@@* o

C. Whatis the sum of Js- and Jg? Give your answer in the form of a fraction in

lowest terms.

__‘.-70—1"”“"" "y
: \
NG /43

Lowisd o om
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

13.

Dominic prefers to work with decimals instead of fractions. For one homework problem

involving —;— and -;—, he decides to turn both fractions into decimals before continuing.

He discovers that%— = 0.125.

A. What is the decimal representation for %—? Show or explain how you could
determine that it repeats when doing long division without the aid of a

cglcu!aton

O A. 0 points — incorrect answer and incotrect support.

B. 0 points — incorrect explanation.
C. 0 points — incorrect answer.
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

73. Continued. Please refer to the previous page for task explanation.

Dominic incorrectly decides that the sum of -:3- and -% is —%—

B. Explain how you could determine that Dominic is incorrect without actually
computing the sun]‘

Ly

Uge Bl /loxB 15 U

4+ C. Whatis the sum of % and ;13- Give your answer in the form of a fraction in

fowest terms.

|

r——————

B
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set

A-10

73. Dominic prefers {o work with decimals instead of fractions, For one homework problem

involving é— and 1, he decides to turn both fractions into decimals before confinuing.
He discovers that -;-5- = (.125,

A. Whatis the declmal representation for %? Show or explain how you could

determine that it repeats when doing long division without the aid of a
calculator.

The podlem Wil (epeak Woe\l
beCousL 1t 1S Adeal 00 Wit

OIS Pk CaY a6 ko
cocnothey | Wexe FO(C%W wi
epeat (ke

O A. 0 points — incorrect answer and incorrect support.
B. 0 points — incorrect explanation.

C. 0 points — incorrect answer.
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PSSA Math: Dominic Does Homework (Grade 7), Anchor Set A-10

73. Continued. Please refer to the previous page for task explanation.

Dominic incorrectly decides that the sum of % and % is %

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

Dommcc_ 1D \ncaccect VECOM SR, YoL.
’Cq‘“‘)ﬁbﬁ {207 PU:\ TOVIO foreer BT eSS,

C. Whatis the sum of —;- and %‘? Give your answer in the form of a fraction in

lowest terms.

The sum of Voo & Yo i T
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 1

3.

Dominic prefers to work with decimals instead of fractions. For one homework problem

involving % and %,

He discovers that % = 0.125.

he decides to turn both fractions into decimals before continuing.

A. What is the decimal representation for % ? Show or explain how you could

determine that it repeats when doing long division without the aid of 2

calculator.
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73. Continued. Please refer {o the previous page for task explanation.

Dominic incorrectly decides that the sum of -%— and

o 2

1
g 17

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

16_1:600“ dﬁ%qrm,’n@_ Fhost DOmin%c
o Uor:on% bechg he, 'bwe cuided e
mii:‘i@.\'\sb\&b he Shoy Id hove did weg
Leass c:omﬁ?'.“’m‘“f’f"’f‘é Yo sorae by Find
¥ "hsjyeoémwkvlhple Fo the ng\omi.no\{o

&

C. Whatis the sum of 1 and 3—? Give your answer in the form of a fraction in

6 8

lowest terms.

The s < "
i UM OF T ang % woold be
74,
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73. Dominic prefers to work with decimals instead of fractions. For one homework problem
involving jé- and %. he decides to turn both fractions into decimals before continuing.
He discovers that —;- = 0.125.

A. Whatis the decimal representation for %

? Show or explain how you could

determine that it repeats when doing long division without the aid of a.

calculator.

T1-2
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73.  Continued. Please refer {o the previous page for task explanation.

Dominic incorrectly decides that the sum of % and %— is %

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

' seve s
3 O Mok Vorantie & \nee
Yoo cood O\i: e fracBers: Yo con comQard e

o \:«:\ﬁ“{w s\ odded - Tre ﬁ?cchm

f)“ﬁ\
5 ohes W ot e T s
o UNDR eSS Mred hoa

' ~ | . kb
wher %oxo\&w O \otause  Hey AT

C. Whatis the sum of % and %—? Give your answer in the form of a fraction in

lowest te;Es. q)
Lezy 4
L 2
%= M
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73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving 1 and = 1 he decides to turn both fractions into decimals before continuing.

6 8’

He discovers that ; 0.125.

A. Whatis the decimal representation for -16-? Show or explain how you could

determine that it repeats when doing long division without the aid of a

calculator. T, 6&“ t'O (C/?(ngn¥0\\0n %0:’

\ )
\ N \L\{(\
b“‘\
‘(Di"‘v{/ ‘\W\M‘

W\\\& ‘“\ch)&w{, dedea-
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73. Continued. Please refer to the previous page for task explanafion.

Dominic incorrectly decides that the sum of é and -1- is '1-21

B. Explain how you could determine that Dominic is incorrect without actually -
computing the sum.

ITELINS G rec i
Q~ {:K‘Q emci Re X 1“1\"%\&% Yo

ft(kaﬁ (J)m(“on &&’f‘\f £o
J,\\e, AQM«\.%\FJ b W bBe SGM...{

C. What is the sum of 1 and 1? Give your answer in the form of a fraction in

6 8
lowest terms. \
Lyl
€3
V2D
137
\ 4N
’6‘% 2y
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73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving —é— and -%—, he decides to turn both fractions into decimals before continuing.

He discovers that % = 0.125.

A. What is the decimal representation for %—? Show or explain how you could
determine that it repeats when doing long division without the aid of a

calculator,
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73. Continued. Please refer o the previous page for task explanation.

2

Dominic incorrectly decides that the sum of 1 and '}3’ T3

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum,

Domnic dded. Hae Jop
ond, +ve pHOOM Fherefor 12

2 Domtie NS 0 moltipie
e Hoo, He Con¥ Cneek by
OO\\’)OJ nis

23 c__L_.

g = ue

C. Whatis the sum of E15' and %? Give your answer in the'form of a fraction in

| x\
&._..y—-—"
b’ B
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73.  Dominic prefers to work with decimals instead of fractions. For one homework problem

involving -é- and -;- he decides to turn both fractions into decimals before continuing.
He discovers that -;- = 0.125.

A. Whatis the decimal representation for %‘? Show or explain how you could

determine that it repeats when doing long division without the aid of a
calculator

pie= 1HE=0

.,
4
\ =z Oa“?) = ygp‘-‘- 0'“;
1) (L)
ém (\\%‘\QX%( *VJ\\ o0 dmbm enaior

%n?\?; oy Onaress O-1e)
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 1 T1-5

73. Continued, Please refer to the previous page for task explanation.

Dominic incorrectly decides that the sum of -;— and % is —1%

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

You Could  AEE(ORRe ¥ D e is
INCoYvect) DY 0081 g Yyt g

C. What is the sum of % and %—? Give your answer in the form of a fraction in

lowest terms.

po=2\
|+ V=011 X |

g ocd &

T gdded Mo N H_

ONG bbbl then T mwtiplicd
by Lo and gor 291G
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 1 T1-6

73. Dominic prefers to work with decimals instead of fractions. For one homework problem
. 1 1
involving 5 and X

He discovérs that % = 0.125,

he decides to turn both fractions into decimals before continuing.

A. Whatis the decimal representation for ~16:? Show or explain how you could

determine that it repeats when doing long division without the aid of a .,
As o con oo X

O JY\v %TS} ~¥lﬂ°@ I _S‘Jmlfadei
Uo “35:-H wkwh aHl (5
2 90 ond flen yw
lepete M owr amd are”

calculator.
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73. Confinued, Pleaserefer to the previous page for {ask explanation,

g e niiniag papat=y g

Domiinic incorrectly decides that the sum of % and %— is %i

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum,,

Well wkm Yo add ACOM’ﬁ you [;'{&!’&
"‘:" Yod o Corimin dedomenadoriand +o Y case the

Srachms will Chonge {0 2,6 4., sor odd

He g

C. Whatis the sum of % and %—? Give your answer in the form of a fraction in

lowest terms. {:;f rc(, Red 4 G _’_1_(:/_.

LI I 7 T Y
G b
ylLlL
X5
*:—“g_g
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 1 T1-7

73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving -é— and %, he decides to turn both fractions info decimals before continuing.

He discovers that 313- = 0.125.

A. Whatis the decimal repreéentation for é—? Show or explain how you could

determine that it repeats when doing long division without the aid of a.

calculator.

The decimal repre SEOTOHON Ly
\

¢ ® 0M6GCoeect. T can
Y\ Haat i Yepents \Cecause
wWnen YoU Ty Ko dge 100
by G IO\ get o Yepeddtng
deonea). BUY yineyn Lo Aide
(00 Yoy By WO& 0O OF e a
ngy dedingl, Biding 100

(ERRAN
AR %%W‘r PUNERNS, & O Test

£ umenely - O NGY v ouy Svouds
e SOt W o repethy
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 1 T1-7

73. Continued. Please refer o the previous page for task explanation.

Dominic incorrectly decides that the sum of -é- and %- is %

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

T can defermine ot
Dorrinic & AR wiwous
COMQUIING e M because
s NoY a common muliple

o & o\\(\& %1 SO Ve s NofF

€. What is the sum of % and %—? Give.your answer in the form of a fraction in
lowest terms.

7

T

H
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 1 T1-8

73. Dominic prefers to work with decimals instead of fractions. For one homework problem

mvolvmg 1 and = ! he decides to turn both fractions into decimals before continuing.

8 4
He dzscovers that % = 0,125.

A. What is the decimal representation for %? Show or explain how you could

determine that it repeats when doing long division fv,_{i_tbput the aid of a
calculator, \ —
- 2. 0ONC
QOfOO O? C
G

4o
_.E...
% |
7?(
=36 U

40
T30
—4qo
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 1 T1-8

73. Continued. Please refer {o the previous page for task explanation.

Dominic incorrectly decides that the sum of %— and -18— is %

B. Explain how you could determine that Dominic is incorrect without actually

computing the sum.
T o dedeimvee ok Bomdie i 1tevect wehout C\duq(\),

axsberiey e godis loy Jost leoting o3 T T Yo
get an onswes of F ke wonld hove added Al Nrerelg,
Yogethes Y et 2 ond M denenvnotars hgelle, b gt ;:
Wher you add Kockiang ‘*bg,éi».r you. hede dp Qti‘(g Q-Lc
jamirmé‘rors o Hal dhyy ove He sape, T Domin, ¢ had
fone Aot by Lluid nat have, opMers %Tﬂm* is Gy Dominge

1S Weore eet,

C. Whatis the sum of —é— and 1’? Give your answer in the form of a fraction in

8

lowest {erms.
24

¢ 24

. _l_ 3
3 - 24
1

4
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 1 T1-9

73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving -;— and %,

He discovers that -;- = (.125.

he decides to turn both fractions into decimals before continuing.

A. Whatis the decimal representation for —;-? Show or explain how you could

determine that it repeats when doing long division without the aid of a

catculator.

i

]
B T Abbbbb 667
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 1 T1-9

73.  Continued. Please refer to the previous page for task explanation.

Dominic incorrectly decides that the sum of -;— and % is 1—24'

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum,

‘{60 Qasld  dedermie thel Dominie v “ocenrect
teeoze S &he did not we o Codoolede o
o ©0 we thel gle yob oddkd Siroigpn
oced ond Hok S retr Yoo you Bpa Be som
ol (2) v (& A

C. Whatis the sum of % and -;-? Give your answer in the form of a fraction in
lowest terms.
\ \
= 4 = Z
8 b2
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 1 T1-10

73. Dominic prefers to work with decimals instead of fractions. For one homework problem
involving %- an d 3 he decides to turn both fractions into decimals before continuing.
He discovers that ; = 0.125.

A. Whatis lhe decnmat representatzon for -;-’? Show or explam how you could

determine that it repeats when doing long division without the aid of a

calcuiator.

%Q&C/O&x\é g@,sr@«m;,«@/ Yo b
) (( Ubectuuse w
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 1 T1-10

73.  Continued. Please refer to the previous page for task explanation,

Dorinic incorrectly decides that the sum of -(15- and —;- is -1%5

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum,

\QOW Could +ell lhe woers feoned
be coume Ve Juat edded the

ominetroc  gow muvet Cihde
commor O eominator,

C. What is the sum of -;- and -;-? Give your answer in the form of a fraction in

- e — -

lowest terms.
4 gy V£ b
g 4~ + G I
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PSSA Math: Dominic Does Homework (Grade 7), Training Set 1

Subject: Math Iltem: Dominic Does Homework Grade 7

Name

Number Score Notes

T1-1

T1-2

T1-3

T1-4

T1-5

T1-6

T1-7

T1-8

T1-9

T1-10
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2

13

Dominic prefers to work with decimals instead of fractions. For one homework problem
1

involving 5 and -33-, he decides to turn both fractions into decimals before continuing.

He discovers that%— = (0,125,

A. What is the decimal representation for % Show or explain how you could

determine that it repeats when doing long division without the aid of a

s

£

calculator.
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-1

73.  Continued: Please refer {0 the previous page for task explanation.

Dominic incorrectly decides that the sum of -% and % is ;?Z

B. Explain how you could determine that Dominic is incorrect without actually

Comp%’g&hesu&u(t& RFUNMINL This beouse
GOA CUn pel e ndded The
humbers Wisho a™ #1nd1g o Common
Ao porimarel,

preia

C. Whatis the sum of -Z-; and %? Give your answer in the form of a fractron in

lowest terms.

e
\? %* % %;6 \*{Q
[ A

NJQ___:E) A
AL w%;»@

AP
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2

73.

Dominic prefers to work with decimals instead of fractions. For one homework problem

involving % and %. he decides to turn both fractions into decimals before continuing.

He discovers that% = (0,125,

A. Whatis the decimal representation for Jé-? Show or explain how you could

determinesthat’it repeats when doing long division without the aid of a.

calculator.

_L.g1o0% 0. 167

poe B
e

To qf:)c /&, 6s @& deamal, flest yov

ZWove to  put %o down fhen figuve ouY

Then gou muthply ¢+ 0100 and get
0.\a1,

Whot symbel 40 ue. lued  wolhphcation.

12-2
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-2

73.  Continyed. Please refer to the previous page for task explanation.

— Loy T e ia - i s

Dominic incorrectly decides that the sum of = 1 and < 1 is 2

6 8 " 14"
B. Explain how you could determine that Dominic is incorrect without actually
computing the sum,,
3 2.: \ 'S gaswesr 'S owm corfech
G +q ‘6 OEaaeT D

becatse 4+ (085 gqual |
4o 2\';\ bor e dd not
GurapMEy - The correck

ooswer 1§ Ly g =B\
‘ -1

. ,C What is the sum of 1 and L =7 Gwe your answer in the form of a fraction in

lowest terms. ° °
The/ sum ok ~“\.' Gmdl s :‘7‘ YeecouSe
% ’c% % e Yoo Svm?h?q by
Z o oA X
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2

173.

12-3

Dominic prefers to work with decimals instead of fractions. For one homework problem

involving -2-5- and %—,

He discovers that%~ = 0.125,

he decides to turn both fractions into decimals before continuing.

A. What is the decimal representation for %— Show or explain How-you could

determine that it repeats when doing Iohg division without the aid of a

calculator. Yﬁu. Lon Jo Qﬂ” Gn& Heen ‘odd o zero
‘ &&fmaf ?Olr}f above

To on€ N‘é\ p[c\c(’, N . 7
6N and aow divide (oﬁ’Lé’C% Now we.

Con Fell l{‘ w;“‘jo ?n ‘:_._qﬂ
b

forever So T wrife + -
ke this L6 ‘“33

oG

T2 cdedmal M’ re Sénl“’L};”*

VA
o~
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-3

73. Continued. Please refer to the previous page for task explanation,

Dominic incorrectly decides that the sum of -é— and -18- is %

— — =

B. Explain how you could determine that Dominic Is incorrect without actually
comptting the sum,

o  wld deleemine that Dominic _:'5.

x

GIM w%JfLD'AJc £inden, o, Leagt comaaae.:m.,
pator which 35 24 Tut he  got 1Y whdh |

& wiong.

C. Whatis the sum of -é- and '18—2 Give your answer in the form of a fraction in

lowest terms. I J y
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-4

73. Dominic prefers to werk with decimals instead of fractions. For one homework problem
involving %— and -;—,,
He-discovers that %— = 0.125.

he decides to turn both fractions intc decimals before continuing.

| A. What s the decimal representation for %? Show or explain how you could

determine that it repéats when doing long division without the aid of a

- calculator,

JINp. | = (o O/@
'

\ Byachion i 0 aivision Prodkem. | did
|1 OWided by o 0n gor O\l YEpeanng
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-4

73, Continued, Please refer.to the previous page for task explanation.

Dominic incorrectly decides that the sum of % and -;- is %

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

Dominic (oSt odded e numeraroes
bWdk ¥ enominarond-10 Find 1
Som of e Cvaenons, N0 CAnn ok
000 ML WO MurofoTs GNd Hhe

ASNOMNOIDYS.

€. Whatis the sum of -é— and %'Z_ Give your answer in the form of a fraction in

lowest {ferms.
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-5

73. Dominic prefers to work with decimals instead of fractions. For one homework problem
involving % and %, he decides to turn both fractions into decimals before continuing.

He discovers that%— = (,125.

A. What is the decimal representation for %—? Show or explain how you could

determine that it repeats when doing long division without the aid of a

s

calculator.
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-5

73. Continued. Please refer to the previous page for task explanation.

2

Dominic incorrectly decides that the sum of i and -;- is e

6

B. Explain how you could determine that Dominic is incorrect without actually

computing the sum. ¢ { _ )
he 1§ 1ncofreet Wijn 2

Mo v had o & dd  bomy fo My
some  Of 7/ 14, Tl fong

C. What is the sum of % and % Give your answer in the form of a fraction in

lowest terms.

"{DE}_)‘{_: 2_/2)5“
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-6

73. Dominic prefers to work with decimals instead of fractions. For one homework problem
involving % and %f, he decides to turn both fractions into decimals before continuing.
He discovers that -g- = 0.125.

A. What is the decimal representation for % ? Show or explain how you could

determine that it repeats when doing long division without the aid of a

calculator.
‘ Ym\,:m\c\ ot 13l .unenis
[ .1Gh.
i o You WeeD agktvs, Uoverand

ouel <o \[C‘\.i. Q_Q{\Hﬂ(}@m oG

2o ord v ooy cone s et
L
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-6

73. Continued. Please refer to the previous page for task explanation.

Dominic incorrectly decides that the sum of ';‘ and -;-— is %

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

Do @dd@. stro tc\)v\\* 0O,

Lelo2
L+ g

- subrodkion

1C. Whatis the sum of —2): and %? Give your answer in the form of a fraction in

Jowest terms.

| )
L & 'y
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-7

73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving % and %—,

He discovers that -;- = (,125.

he decides fo turn both fractions into decimals before continuing.

A. Whatis the decimal representation for %? Show or explain how you could
determine that it repeats when doing long division without the aid of a

calculator.
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-7

73. Continued. Please refer to the previous'page for task explanation.

Dominic incorrectly decides that the sum of % and -;—;- is 72&-.,

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum,

Lr cotldd AXas IR, ENS Racondl. ""“”rw""“?“"’“
Saneminatot OF G ond® B 39 "ok YR Te O |

2.

C. Whatis the sum of % and -;-? Give your answer in the form of a fraction in

lowest terms, s -
1 B \e BRy — --—--\’\ ¥y =
G BF5 24 Ca %
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-8

73. Dominic prefers to work with decimals instead of fractions. For one homework problem
involving % and 1, he decides to turn both fractions into decimals before continuing.

He discovers that% = {),125.

A. Whallis the decimal representation for -é-? Show or explain how you could
determine that it repeats when doing long division without the aid of a

calculator,
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2

73. Continued. Please refer to the previous page for fask explanation.

12-8

Dominic incorrecily decides that the sum of -;— and % is -%

B. Explain how you could defermine that Dominic is incorrect without actually
computing the sum.

He is ‘lncbr‘{*‘_’cc}»* hécavse O
he did wes  add denoming¥ors
2d e add W nuwurators,

C. Whatis the sum of -;— and % ? Give your answer in the form of a fraction in

lowest terms.

] |

i

\
S ‘{S '\’\(\2 SV Q—(: % an¢\§
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2  T2-9

73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving 1 and 1, he decides to turn both fractions into decimals before continuing.
6 8

He discovers that-;- = 0.125.

A. Whatis the decimal representation for %? Show or explain how you could

determine that it repeats when doing fong division without the aid of a

/\-"

calculator, 73 i

Page 3-65



PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-9

73.  Continued. Please refer to the previous page for fask explanation.

Dominic incorrectly decides that the sum of Jé- and -;- is -1%1-

B. Explain how you could determine that Dominic is incorrect without actually

compufing the sum. \D\\ en %{)G OA G\ ng‘\bm
Yol e do  Ged  Iae  lagst cnmon

deroninatec Then, (o qusr Eelaal!
¥re numemon by wroverr gy d¢

qeb e Remowincsot Thers ([
OF GC Ihe  yumeraiors

C. Whatis the sum of % and %? Give your answer in the form of a fraction in

owest terms. ‘ 5
lowest ¢ %ﬁb %(q %

2y
D
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2  T2-10

73. Dominic prefers to work with decimals instead of fractions, For one homework problem

involving’l and 1 he decides to turn both fractions.into decimals before continuing.

6 8 1 '
He discovers that 3= 0.125,
'A. Whatis the decimal representation for. ;-? Show or explain how you could

determine that it repeats when doing long division without the aid of a-

ca!cuiatoro lw 00 1 Ca;h J\’*@“
© ao
6 ; oQes b%@”?&a \o\é
l
SiZo CPU
Pv w\\\ M/@(* |
T o e *ﬂwd@f\
U(O(O &x\&\ %éc% L
-3 AR -
EGR R
%/4® T s U

\QUg &\\(\DYI |
5‘% 20 "
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PSSA Math: Dominic Does Homework, Grade 7 Training Set 2 T2-10

73. Continued. Please refer to the previdus page for task explanation,

Dominic incorrecily decides that the sum of —é— and % is 3122.,

B. Explain how you could determine that Dominic is incorrect without actually

2yl *V%\m A by 354F
Y

\& VQO‘)\d\ Ny Ve

G

C. Whatis the sum of % and %2.Give your answer in the form of a fraction in

P

HY%E! %sc%f
4 3

a—— ‘ - -

fowest terms.
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PSSA Math: Dominic Does Homework (Grade 7), Training Set 2

Subject: Math Item: Dominic Does Homework Grade 7

Name

Number Score Notes

T2-1

T2-2

T2-3

T2-4

T2-5

T2-6

T2-7

T2-8

T2-9

T2-10
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Math

Dominic Does Homework

Handscoring
Practice Set

*Responses in this set do not have true scores. Apply scores based on
scoring criteria.
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

73

Dominic prefers to work with decimals instead of fractions. For one homework problem

involving -16 and -1é~, he decides to turn both fractions into decimals before continuing.

He discovers that% = 0,125,

A. What s the decimal representation for -:—5»’? Show or explain how you could

determine that it repeats when doing long division without the aid of a

calculalo::(7 bebh
L. Lele Y= |
bIT.000% o1 O ol b i eeperts
Lo ' >
@ i de€initly baoavse VOO
10 10 and 3¢t 4, e being
=27 donive @.ang. oo wg pod
‘é_@ "&“P@+ ;} a\) ap‘e( agal'n'
=,
.36
40
=36
i}
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

73.  Continued. Please refer to the previous page for task explanation.

P ey pr—— = e S e e

Dominic incorrectly decides that the sum of %— and % is %,;

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum, '

fean TNy inopreet heae neber

C. Whatis the sum of % and %? Give your answer in the form of a fraction in

lowest terms.,

‘1’
Yz B4

o=
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set P-2

73.  Dominic prefers to work with decimals instead of fractions. For one homework problem

involving %— and %, he decides to turn both fractions into decimals before continuing,

He discovers that % = 0.125.

A. What is the decimal representation for é—? Show or explain how you could

determine that it repeats when doing long division withoutthe aidof a

calculator,
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

73. Continued. Please refer to the pravious page for task explanation.

Dominic incorrectly decides that the sum of % a,'?d,% is -1?2 7

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

el Ths incorteed laicaose T,
ado+d 1+ up ard 3.5‘-” a

A"S‘Fﬂrenir N SULSLL

C. Whatis the sum of -16 and %? Give your answer in the form of a fraction in

lowest terms.

Bs | _ 73
L T % ~zu
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

P-3

73, Dominic prefers to work with decimals instead of fractions. For one homework problem

involving 1 and 1 he decides to turn both fractions into decimals before continuing.

6 8’

He discovers that % = (0,125,

et et e g

'A. What is the decimal representation for

1? Show or explain how you could

6
determine that it repeats when doing long division without the aid of a

,.('(::: b =6k

calculator.
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

73. Continued. Please refer to the previous page for task explanation.

Dominic incorrectly decides that the sum of % and % is -%

B. Explain how you could determine that Dominic is incorrect without actually

TERSGE  fr6
>

C. Whatis the sum of %- and %2 Give your answer in the form of a fraction in

lowest terms.
/I

L
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

P-4

73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving 1 and %. he decides to turn both fractions into decimals before continuing.

6 1
He discovers that 3=

0.125.

calculator.

A. Whatis the decimal representation for

%‘Z Show or explain how you could

determine thal'it repeats when doing long division without the aid of a
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

P-4

73.  Continued. Please refer to the previous page for task explanation.

Dominic incorrectly decides that the sum of %— and % is 12—4

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

Y1)(5\) Con Selecpming, ﬂ\ak Qom?n R f}mmﬂt
econse. WS OMde ™ s ok smPlfred.,

C. Whatis the sum of. —% and —15'? Give your answer in the form of a fraction in

lowest terms. . 17

a——

M
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set P-5

73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving % and ;,

He discovers that% = 0.125.

he decides to turn both fractions into decimals before continuing.

A What is the decimal representation for 'é"? Show or explam how you could

determine that it repeats when doing long division without the aid of a

calculator.

6u wauld do i€ and

LLou [ 56% O.16666¢45 7. -
Te Loay Yo con  teff /F'/@a{
gc-ﬁ the Seme NuMr,
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

73. Continued. Please refer to the previous page for task explanation.

Dommxc mcorrectly decndes that the sum of 23 nd ; is 7‘22

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

d@,c:{ha/sq,
a&% %90( ﬂuﬁ)ﬁn%a\/@ hod

C. What is the sum of 1 and %—‘? Give your answer in the form of a fraction in

lowest terms. T -(» wol/( /& 176 ...-—\
4.
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set P-6

73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving -é- and %, he decides to turn both fractions into decimals before continuing.

He discovers that % = (.125,

A. Whatis the decimal representation for %?_ Show or explain how you could

determine that it repeats when doing long division without the aid of a

calculator,
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

73.  Continued. Please refer to the previous page for task explanation,

P-6

Dominic incorrectly decides that the sum of % and % is -%

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

1 and 1? Give your answer in the form of a fraction in

1 C. Whatis the sum of 5 B

lowest terms.

=3
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

P-7

73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving 1 and 1 he decides to turn both fractions into decimals before continuing.

6 8’

He discovers that 1 = 0.125.,

8

A. What is the decimal representation for -16’? Show or explain how you could

determine that it repeats when doing long division without the aid of a

calculator. _
O.\b
L. Vo6 0
& - (’L
Lo
= 3o

LEO\I W

“a6Y

Tre. deatmal For - (s 616G,

TF e puomber Weeds Snevathag
op WAL Ahe homber U0 el
I cany Stop ok Yo hastanddin
Q\C\,(G, ondS. Put Ay, Wne Gy
T e P e Do Aeally
o Nn,  Trstsandtn flac b

RIS Wy o wpewting  wawaer,
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

73. Continued. Please refer to the previous page for task explanation,

P-7

Dominic incorrectly decides that the sum of -é- and % is -1%-

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum,

Torahiie. & WITonEG TROasR. 1§ wou
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TS T W eaual peces.

C. What is the sum of %,- and %—? Give your answer in the form of a fraction in

lowest terms.
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set P-8

73. Dominic prefers to work with decimals instead of fractions. For one homework problem

involving 1 and 1 he decides to turn both fractions into decimals before continuing.

6 8’

He discovers that -;- = (,125.

A. What is the decimal representation for %? Show or explain how you could

determine that it repeats when doing long division without the aid of a

calculator, ) \'é
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

73. Continued. Please refer to the previous page for task explanation,

P-8

Dominic incorrectly decides that the sum of % and % is %.‘

.

Yhem,

B. ’Explain‘how you could determine that Dominic is incorrect without actually
computing the sum. T o el hee 15 incorceck ‘vecenode.

e Scer he eaelded Yhe Q—ﬁm,c)..:ofe. na*reed) O%F mu\’dp\\,,\

Ny

6
lowest terms, \

—

g

C. Whatis the sum of 1 and -:3—? Give your answer in the form of a fraction in
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set P-9

73, Dominic prefers to work with decimals instead of fractions. For one homework problem

. fnvolving % and 38_'

He discovers that % = (),125.

he decides to turn both fractions into decimals before continuing.

A. What is the decimal representation for %? Show or explain how you could

determine that it repeats when doing long division without the aid of a

calculator.

the decimal T .6,
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

73 Continued. Please refer to the previous page for task explanation.

Dominic incorrectly decides that the sum of % and -;- is "723

B. Explain how you could determine that Dominic is incorrect without actually
computing the sum.

/ B /o" 'H;e S

1 COFrec T St ¥ ?’-.,L 2

C. Whatis the sum of 1 and 1 ? Give your answer in the form of a fraction in

6 8
lowest terms.
lwest ferm (s &% F= 1%
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

73.

Dominic prefers to work with decimals instead of fractions. For one homework problem
involving —g-'and -;—-. he decides to turn both fractions into decimals before continuing.
He discovers that % = 0.125,

A. What is the decnma! representatlon for 'é'? Show or explain how you could

determine that it repeats when doing long division without the aid of a

calcglatgn, ‘\N« (&(/U M&t Y\Q (\ng,ﬂ)f ofbéﬂ
Qor ¢ Is 0. \(ﬂ Whus
‘)({/Uz Clw\Slof\
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WY W over oend
VU 0\503/\.
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PSSA Math: Dominic Does Homework, Grade 7 Practice Set

73. Continued: Please refer to the previous page for task explanation.

P-10

Bominic incorrectly decides that the sum of -é- and %- is -124 .

computing the sum.

B. Explain how you could determine that Dominic is incorrect without actually

Pn\b fwinldcy- g.:oof”!‘wﬂ fo“_ho{"
QUQA/\& dfu’gu@ {09 Six or eghf‘

. C. Whatis the sum of % and %‘? Give your answer in the form of a fraction in
lowest terms. o
e [T
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i
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PSSA Math: Dominic Does Homework (Grade 7), Practice Set

Practice Set*
Subject:  Math Iltem: Dominic Does Homework Grade 7

Name

Number Score Consensus Annotation

P-2

P-3

P-4

P-5

P-6

P-7

P-8

P-9

P-10

*Responses in this set do not have true scores. Apply scores based on scoring criteria.
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I5ennsylvania Math Training Workshop

GRADE 7 Dominic Does Homework T1

Page

Score

Description

4

A. 2 points — correct answer and complete support.
B. 1 point — complete explanation.
C. 1 point — correct answer.

A. 1 point — no credit for answer (missing notation for repeating decimal);
complete support.

B. 0.5 point — correct but incomplete explanation (the concept is correct, but
2/14 is not less than both 1/6 and 1/8; just less than 1/6).

C. 1 point — correct answer.

A. 0 points- incorrect answer and insufficient support for any credit.

B. 0.5 point — correct but incomplete explanation (“same denominator” is
correct, but “greatest common factor” is incorrect). '

C. 1 point — correct answer.

A..0 points — incorrect answer and support.
B. 0 points — incorrect explanation.
C. 0 points — incorrect answer.

A. 1.5 points — correct answer and correct but incomplete support.

B. 0 points — incorrect explanation.

C. 0 points — incorrect answer (no credit if not a fraction in lowest terms, even
if added correctly).

A. 2 points — correct answer and complete support.
B. 1 point — complete explanation.
C. 0 points — incorrect answer (not in lowest terms).

. 0 points — incorrect answer and insufficient support for any credit.
. 1 point — complete explanation.
. 1 point — correct answer.

OwpP

. 2 points — correct answer and complete support.
. 1 point — complete explanation.
. 1 point — correct answer.

O WX

. 0 points — incorrect answer and insufficient support for any credit.
. 0 points — insufficient explanation for any credit.
. 1 point — correct answer.

Ow>

10

. 1 points — no credit for answer; complete support.
. 1 point — complete explanation.
. 1 point —correct answer.

Owr
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Pennsylvania Math Training Workshop GRADE 7 Dominic Does Homework T2

Page Score Description

2 A. 0.5 point — incorrect answer; correct but incomplete support (“1 = 6”).
1 B. 1 point — complete explanation.
C. 1 point — correct answer.

O Nothing is correct for credit in any part.

2
4 A. 2 points — correct answer and complete support.
3 B. 1 point — complete explanation.
C. 1 point — correct answer.
1 A. 0.5 point — incorrect answer; correct but incomplete support (“1 + 6”).
4 B. 0 points — insufficient explanation for any credit.
C. 1 point — correct answer.
1 A. 1 point — correct answer only; incorrect support.
5 B. 0 points — incorrect explanation.
C. 0 points — incorrect answer (no credit if not a fraction in lowest terms,
even if added correctly).
2 A. 2 points — correct answer and complete support.
6 B. 0 points — incorrect explanation.

C. 0 points — incorrect answer.

A. 2 points — correct answer and complete support.
7 B. 1 point — complete explanation.
C. 1 point — correct answer.

A. 2 points — correct answer and complete support.
8 B. 0 points — insufficient explanation for any credit.
C. 1 point — correct answer.

2 A. 0 points — no credit for answer (repeating bar is in the wrong place);
9 incorrect support.
B. 1 point — complete explanation.
C. 1 point — correct answer.
3 A. 1 point — no credit for the answer; complete support.
10 B. 1 point — complete explanation.
C. 1 point — correct answer.
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